do / dA{R} [pb]

Ratio to CMS

107

10

0.5

Rivet 3.1.10, = 2.6M events

000 GeV pp bb
JLINN L L L L A L N L B B B B
A R(b-jets) (pT_ > 120 GeV, f | <3) =
. i
. =
[ ] Al -
u = ] ./ h\\\h\ _|

-
/ LI\,, s

m CMS /

: ~
—a4— Pythia 8308 default
;Eynﬁizos tune-1
i I:’ythia 8.308 tune-2c
Pythia 8.308 tune-2m

mcplots.cern.ch [arXiv:1306.3436]

T 1 I|IIII|||||__IIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIIq_\l

N

.

A{R} between two B hadrons



	Contents
	Page 1


